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T :
Instructions :
GHATHTE G FoHTGTRINT, Gehea G- |
S8l Wb 7 8l T@T T 7ol & I Gh d &l ford |
Answer all questions in Sanskrit, unless instructions are given otherwise.
ST T I GUel: I |
T IYE-0T § IR EUS ¢ |
There are four sections in this question paper.
T AT — TG (3TATSAT — ST ) 15 gt
Section A : Unseen Reading Comprehension
gres. g R TIATHhoE T (5 H TEHTHE oia) 15 A==t
SectionB : Writing Skills in Sanskrit
Tue: T TS — T TepaaTeed u=d: F 40 + 10 = 50
(IfeATST — SToETyT Ud H&hd Qiecd o)
SectionC : Reading Comprehension & Introduction to
History of Sanskrit Literature
gus: g : BRISAGHN: (BF TIH TATHR) 20 gt
Section D : Metres and Figures of Speech
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gug: % (Section A)
HUFSATIT — AT
AATSATIT — Saae=

Unseen Reading Comprehension

TR 3Tesegd Ul UETM TR F¥ahd- I |

TeATeiEd ST ST=9sT 1 Tl U 7T o1 & ST Gehd | ST |

Read the following two passages and answer the given questions in Sanskrit.

() wmnaﬁﬁa
TR ST WU} Sfae ol Hewem STcrdeh ad | Soid 0g AFamT IR
T ar saeTHi ST, JEAT =M 38 S ud g | sty s1: stora want
R W T ST 7 SR Hvl ed Fa o ey | Al wemfy sl 7 @i,
dfe Fema sg foree sifereafa |

3T

(37) THURA A |

)

Q)

Ueh ¥ H I Al |

Answer in one word.

() e IR e 2

(i) “wfg=fa’ Id SHEm Hgus 69 2
qUETR I |

U7 A1 § SR T |

Answer in a complete sentence.

s St =1 W e foh Wi 2

TR 3T |

S SR ST |

Answer as directed.

(i) o ‘YRR’ 3T F: TA3; ?

(i) oY v et e 2

(iii) @’ A FAHUE F Pl T 2

(iv) ‘“Hewm’ 37T Fdl HI HAT 3T TR 2

3

15 AShT:

~

Hhx2=1

hx4=2

[P.T.O.
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@ fgea: =
Farar. wror fafaet |t | g w fgiawr qatd | ke ot = | SRt
[T i JAT S Wb TR e S Sai T | JAT e SR
e foeiuaiees a1 | 9% SRSl aET elled WeRaT AR a @ Sieearae Ty |

FafeheerT: ShodsT o TdTgel Ta fauiua; &y Yerafd | IRA 3T fafwmn amm
3TAcATeTd FosTay | Fafehcehed Yo FATag, gAsi vad, Farawst vafd 3T =
qUAIRE: 29T, Wt o Werd | A F hIGUMT %ol 7 ofdd dfe HARAEEd JH
GoSIAd UF | Ue HATT @Oy fefshean et 7 s |

3T

()

)

)

THTR WA |

Teh 913 H TR AT |

Answer in one word.

(i) AT ST HigeM | ?
(i) Tafshear sigel T ST ?

qUTETERA 3T |

9o I H 3T AT |

Answer in a complete sentence.
NP CRIREA T 2 i

AR ITRA |
I JR T |

Answer as directed.

(i) T o oot b ?

(i) ST 37T U fhe 2

(iii) IO T F: T 2

(iv) T 3 GImUS HE TR 2

T ST Pl IUFH WM HGpa forad |
T DT & [IU UG Y Wepel H feafan |

Write a suitable title for this passage in Sanskrit.

4

1x2=2

1x4=4



49/1

gus: @ (Section B)

HEpAA ARG

TG H TS A
Writing Skills in Sanskrit

TSSTHT: Sfadageh Jafel STeifciadl s R 31: forad |

o

TSSTT © 3o Hohdl Tioh (TaIRad &2 31 quiet I folf@T |

15 313;\55IZ

1x10=10

Complete and rewrite the following story, with the help of the words given in the box

below.

HT :

EECIEetD)

EORUERE HEed SeHq TG T JE | T FeT: JHETEAd —

“OF T WA ST, O () 0 7T Weed: e e, | e died |

T(v) T O | UG S SR oA Ty M T WerA | T T 7

(vi)

3 T Sar | FuftetE AW T T WA T (i) | R

T T () O SRS TS, () |

HasTuT

[N

TR, 3T, IS, Jfesd:, JuT:, gfaftew,
$QW16@REMEHGQ|

TSI U1 Terea “gema=i gfa Sivsafise ae are- §xha forad |

TSI 9 U A ‘WA 39 I W T&hd | Ui a1 fAfa@u |

1x5=5

Write five sentences in Sanskrit on “Prime Minister” with the help of the words given

in the box.

HSWT

(=N

TR, S, THah:, T, e, 9, WSTH, Tfd, Sreaid,

faRfemm, TR, Ty, SEehHeRT, Fe=RE, TR |

[P.T.O.
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gug : T (Section C)
TfSATI — HFE AT UR=d: =
TFSATS — AT d Wl Wifeed U=

40 + 10 = 50 F=H:

Reading Comprehension & Introduction to History of Sanskrit Literature

I'ﬁﬁqg, .., \..aﬁ \. ; |

TeATeiErd e, eIt o eaier s UgehY U T U9 o ST H&hd | 1T |

Read the following verse, prose and drama passages and answer the given questions
in Sanskrit.

(®) T

eI RRATdEa el Agy: |

AEHANT Ao g ) Fael 7o,

T o o HIE UTeT: Hige: |17

AT

(37) THIRARRT |

)

Q)

T I15 § 3R ST |
Answer in one word.

(i) IRRY 3T & 491: 7
(i) Tagw = & 2
UIETRARRT |

U7 TR | IR ST |

Answer in a complete sentence.
Wﬁﬁmﬁﬁﬁﬂﬁﬁméﬁﬁ?
TR 3T |

ST ST JITT |

Answer as directed.

(i) ‘a7 foemug ey 2

(i) “Shsaiod:” R UgEd Pl T foham UgerT ?

WHhx2=1
2
1x2=2
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(@) TR

“Te OO R fFaTET o | qal SR TR SqoeT s |
T Tregeen T8 STl =iy T gal | 3hd i sefdcen qeifers! TsTHeRd,

‘ol I | rRAafaEET e Ssier e autaer 1”7
qIAT:
(30)

)

Q)

THTRARRA |

T 31 H IR A |
Answer in one word.

(i) ST SR I S&F 2
(i) TTH T 37 ?
UIETRARRA |

U7 AT | 3T AT |

Answer in a complete sentence.

qeifeTeht ITT fohH 3TeRd ?
TR 3T |

PRI G TR il

Answer as directed.

(i) T st faetmug foe 2
(i) ‘oTe:’ 3TF & TA; ?

hx2=1

1x2=2

Hhx2=1

(m e
“TEA —  3TTSTe SRATShI: T =UeT: Y g 7 (Mfavd)
o —  UYOq HEAREIERE |
[GER — GRS 9 | TIHREHRISTANE: |
S - A
SEE — T TEn | vieaHd R dehmey | R T 9eEe 2 qeieh IIaeE:
FHATIA! TIUSAT HETIOR WA | A = foueraadg=sa |7
qo
(37)  THUARRA |
T 31 H IR A |
Answer in one word.
(i) & TR 2
(i) 379 g 2

[P.T.O.



@)  YUEERHRRT | 2
U7 e H 3R SN |
Answer in a complete sentence.
AR ige: 2
(@) FATASIIRE | 1x2=2
AL ST T |
Answer as directed.
(i) o e foparm: e o 2
(i) % H0E vfeaw 2

5. IR Hetfaen g forea | Yox4=2
It 1 37t § et e O fetEn |
Match the words with their meanings and rewrite the same.
ITET: 3.
(3 e ()  Fem
@) forgem (i) e
@ s (i) wweEm
@ wEfem (iv) S

6. IEGHAURIA MY FEATTHITT o | 1x4=4
LEiferd Ugl % STTER 9 99 FHI0T SHifT |
Frame questions on the basis of underlined words.
() T e AT |
(ii) =i qRai |
(iii) STETOTEHET &I At |
(iv) I ST TormeAeR |

49/1 8



49/1

STfARGTTaTeET: ReFdey(d Sosuusgerdad 6 | Yy x12=6
fefeiad gt wraret § Hos § U M0 91t 6 Werddr § Red i Ft 9fd Hifse |

Fill in the blanks in the following two explanations with the help of the words given

in the box.

(3T)  “STAT AT o TR 3L TS STAT: |

A& gentrTes i 3 % arcAel S |1

W

d;E T ) ATRM T () TERW T iy WL AT Gy d
Sfte. e & Ty IOy |

~

@) s T | Fere e ity |
TR f gameht s a1 117
Tare:

H o (i) qr< (ii) Ll (iii) | (iv) S Ww, 3%
() T (i) AT
T

eI, JoHTHY, I, TR, TR, 3T,

e o, waeTy, |, HIA, e, & |

Tifcacar: yeteRar: e R $od | 1%+1%=3
fTARad gt Yol & oFadi § Re ST & gid HiT |
Fill in the blanks in the following prose-order renderings in the two verses.
(3T)  “STIRATEIRAT SRR |
= e AR 3 SRty 1

A

for@T o™ W ST TG W S |T§Fﬁ$1§n,ﬁ=r:
(i) e 1|
@) “AREIRfEs FaTe ©mE a9 |
fovate=Tg=: Forad araasErd & 117
AT

TR T T T A w () R ST Gy
AT |

9 [P.T.O.
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AT 3T |
T 3T AT |

Answer as directed.

(3N FguS Thame = fega |

C))

Q)

Q)

Fal Td foRaTIR 9T |

Select the subject and the verb.

(i) UTIHTE: & |

(i)  3THYUOT: T IRREAET F Hiagead |

fareromag faee | 1x2=2

faretooT 98 9w |

Select the adjective.

(i) TEdERes SeHehagea e |
(i) I T HEerre URymt |

STfRadIEeheal: YEifha-Fer TS e Tgar 2 1x2=2

TeAferfae dfsat § Y@ifea-gamug e o e & 2

In the following lines for whom are the underlined pronouns used ?
(i) & 9w QST T |

(i)  STvdeR TSI IE% 31 HHaT 9 |

STTARGAFTT “HAGH T “FHA 3T Tal: TS Ix (ot forfagd | 1x2=2

TAfeRaT dfeRkal § ‘e T ‘Rl & Tal o GHETE 08 g [y |

Select and write the synonyms of the words ‘lotus’ and ‘says’ from the
following lines.

(i) TvAH d gEqUedie |
(i) TR g=sid |

& & HIIT ? Yx4d=2

I 8 & W@ 8 2

Who is saying to whom ?

(i) g d Fiferaremd sreee TRfa amesi |
(i) T | IR o AT, TR & e 2

10

Yhx4d=2
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()

()

(3

C))

Q)

ARG HEMY Wbt e A forad |
FAtAEd oRaehl i {8 Teh =1 1 7Y fafEy |

Write the name of any one work each of the following poets.

EEIheTETY:, HITCIST:, ST, ARSI, ST
STTARGATEAT AGHAT AT forEd |
fr=fafad 13T o J@ehl & A fdfEy |

Write the names of the authors of the following works.

STRTARH, AU, FRTaaI=TeTe, Frearead, Fifaersy |

@gug: T (Section D)
TRISAEHRT:
Metres and Figures of Speech
I9AH 3T |
T % I AT |
Answer the questions.
(i) “oiferd:” o/ 90 2 ol o e ar 2
(i) TUE @y foEd I
STETARIAYCATT: I |
Frefetfiae aRemsit 1 qot ST |
Complete the following definitions.
(i) I ArE: |
(i) S ST T |
(iii) & Bsfva=T it |
(iv) ST T |
a@%ﬁﬁmgﬁiﬁﬁ%gﬁ?
frferiae dfeat § ia-sH | ss € 2
What is the metre in the following lines ?
(i) AT T R T BRI T A oo |
(i) ufaRard asEd T |
THE T 33T forad |
T T 1 I AT |
Write the example of any one of the following metres.

Torafot, sgaeT |

11

1x5=5

1x5=5

20 313;\55IZ

1x2=2

1x4=4

1x2=2

1x2=2

[P.T.O.
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(37) FETIIHE TETCHRE HRTEI0] ALd0f forad | 3

C))

®)

Tl U TTSTCIhR T ST Tled oAeIvT feAfEu |

Write the definition and example of any one of the following figures of speech.
ST, T |

HATHHATNAGHNE TRTET 0] forad | 3
forelt Uk TSR 1 3STER0T Wied A&l feafan |

Define and illustrate any one of the following figures of speech.

TR, I |

STRTIgHRA!: JTeHN e | 1x2=2
fefotiaa dieeai & srergsr Few i |

Indicate the figures of speech in the following lines.

(i) ¥\ T e 7FE 79 o |

(i) For fe fogeaehiiol TuTeledT. @EHe 9g; |
FTETATEAURHTSTEE I | 1x2=2
frefafaa gt aRamTstt st ot ST |

Complete the following two definitions of the figures of speech.

12



